sindx = (1+V2)(sin2x + cos2x - 1)
2*sin2x*cos2x=(1+V2)(sin2x+cos2x-1)
2*sin2x*cos2x+1=(1+V2)(sin2x+cos2x-1)+1

sin2 2x+cos”2 x+2*sin2x*cos2x=(1+V2)(sin2x+cos2x-1)+1
(sin2x+cos2x)*2=(1+V2)(sin2x+cos2x-1)+1

sin2x+cos2x=t

tA2=(1+V2)(t-1)+1

tA2=t-1+V2t-V2+1

tA2-t(1+V2)+V2=0

D=(1+V2)A2-4V2=1+2V2+2-4V2=3-2V2=1+2-2V2=(1-V2)A . —
t1=(1+V2-1+V2)/2=2V2/2=V2 AS N kX Ll B COS kX— C

t2=(1+V2+1-V2)/2=2/2=1
sin2x+cos2x=1

cos2x=1-2sin2 x
sin2x+1-2sin*2 x=1
2sin*2x-sin2x=0

2sin*2x-2*sinx*cosx=
sin*2x-sinx*cosx=0

sinx(sinx-cosx):O I_I OJ-I O B M H H bl e er-I bl
{sinx=0

iji:;;cosx=0|cosx I/I D'an b Lu e D'en I/I LU b
tgx=1

x=P/4+Pn Ha COSAZ N1 SinAZ

P/4+Pn; Pn.

MeTton
BCromoras
apPryMeHT:

sin2x+cos2x=V2
sin2x*1+cos2x*1=V(122+172)*(sin2x*1/V2+cos2x*1/V2)=V2*(sin2x*cosP/4+
+cos2x*sinP/4)=V2*(sin(2x+P/4))

MNMyctb 1/V2 npu sin = cost, a npu cos = sint
cost=1/V2

sint=1/V2

t=P/4

sin2x+cos2x=V2*(sin(2x+P/4))
V2*sin(2x+P/4)=V2|:V2

sin(2x+P/4)=1

2x+P/4=P/2+2Pn

2x=P/4+2Pn

x=P/8+Pn

OTBeT: P/4+Pn; Pn; P/8+Pn.




